Calculus Name:

Mixed Practice #2 Date: Period:
L _[0 s 5 Jx3 cos (2x4 _1) s 3 lim Inx 4. Which grows faster ?.S
=3 _2e" x>l tan rx x = tanx and x°?
5 d E 7\’ 6. Which grows faster as E . d|: o ’CZJ
R _L 2 : .| XS =
e 7 T {/;? 7. L cos” 2xsin 2xdx e
. _ d X =3 1 1
9. limxe™ 10. —| cos’ | —— i x)x 12. Iim| —— )
x—m dxl: (x_’_lj:l 11 1\,1_1;1;)1(1—*-2‘{) .v—)O[x e“-_l
=] x d . X
13. 0 (x2+1)2 dx 14. E[xsilﬂx] 15. \lgrrl )SCT; 16. j:lz\e dx
8 dx X 3 dx 20 J'm dx
17.[ Rl 18. J‘x‘dx 19. i ) 3
-1 3 x 0 x—2 (x—z)a




M?Md’ Keview 42

o b
%
L" dl .;Z—Ch 3 J-ngo(x
f 570 Ax AR T ;%‘_’:'ﬁz 2 J¢
u= 3-2¢
ﬂ{M" ‘%a{x

|l

. | N RS S " o " _,__L 1A= Al
= \J m .—1‘: J(:Vi 1 :5 'LC,« / (A B .,a"/' 1 ( ,'/' !
e / o

lfg)(ﬁaoj(lx de ‘>6 ju;su du = = Sinw +C
U= Zh

dus 82 clx 271}')'“ém (ZxLM@
I
M y

Lk L
2. lm 22 & 2 gy Em = lm CosT@x 0T
= % | ’\’”\M‘“E O =] © QcTrX x| Tk !
| e B O N | b
. TANX 18 S S CAE XTSI TaAm

%/ Lirr 23 Uina |- e “\ = \) N §,{ . Tans ..

X% ()O X ><"';'°C> L. )'\ \( =N Oy 7 ’m‘s

w\o‘L'/ see’x = g oS
ok um X\S}kc X o SinXx ——b (_,( (r;x ¥ mﬁ DMQ
X o K Cox XA (oS K

o’ ) Cﬁh”o% /32—
Aeterminecd.

o4 (2] :@«%Sg(%xi g@




L y/. ; 4 2,
(O (/U’V\ bghy le b;,): - (JVV\ > _ le X//
X =3 VY X - 00 X X218 Ly ST _-—->Z—
L —
= Linn 3 T/' B 1< |~ A . ’
Nt | %A [ O KSO -t i}”’“«)é {AStH “mn Ky,

14 ZL@ 1 T : L
05" 2% Gindy Ao *7§§@udu =L e
' 5

Z b S
U= LoSlx I
du » ~2sin2xdx Lo T
5 7.
= = (0§ Ix T
7 o 5 ¥ Q_OLFT Cos J'f)
5 o (@)
Z —’(:D_ s ,S = _,I_ -P_l - _—l-—
10 10 o o 15
[m/?] L 445" . L
X
g
dw—Z»cdk 0/\/":(5~><L>(~%><)6/>c
S -x (5% G
L b |

v5 ~x* 9 é Yy Agnot -

o
= ol [B5= Iz = =Xt (5-%") Dx . % Hox"ix
2= R V 5 -x& Vo —x

{3x+/0
LW

: ~X ——X ! B
C/,(,MA XE = n ”’QZUME;:O

X ) 2 X € XA

\iCos (Xf':] ) tos’ (m g"”X*')(TQmX




0. == 3 (sl L\)sm(LB
(xﬁl\L X1 Xt

=9 3
/. Ling (14 2x) N = (142)

X O
L \,/ - —_;i)(_ L (/[+2X>
Jon \;WV\ \E F UN\ 1o .Qm(lJrlx)
%0 X0 x
. L(W\ “-5/9/\(H2><>
XMo X
—3 .7
= (/U’V\ (+2x
x=70 |
=
- UV"\ el o
v \—\*Do& (0
o Se dadim s
é X0 C
—b
Linn 'E A —L(-;
X0 £




ay L
Sé‘% < _gu/zoﬁuy 7 e “\“ L
U

N L e O Y

7%
13, IR B
y\xu)?' k;’;oz QM'B’”{X 'gg’aol a b I
u&cf:\—\

L du = 2xels>

: <l
P zm 2(@ 41 o1

e Ay()( 511/\3 ¥ (Bos35) + Sindx (0 Bx (o3 +Sin
Adu=1  dv=Fesdx
1S Lim LT - (i my L :[‘_\‘
)(5)T-* X -1 x:j‘ﬂ"‘i \
et 4 >
I+e
“05 ‘ f(.L f»’} ﬂl)( - (‘%6 +l)(l)<
_ T=F
«!S‘-€5l><+g [ *’( e +7<)/ - -e ’L (6—”
T nm B o Bolie. 1
ST ﬁ:' Ly or Bre- e o 22—
‘9 . O“‘ (P_a ‘ 0\" ‘ X'
T e ol [ x’z/x +me AL
M . <2 b
=t ,7.2_% A I 3 773/ 3 - :i
G0 2 /-: l\jgﬂo e 2 (6)

" S LS s T
S Z+2 (N =20 =



f () 2T 2,
- j W{Lé- e H ' h':”‘\)’* L f 7 fl‘ o s
-3 | ) xala j S o A A O e Y

— o “o ‘.),>‘ ) "L(% 'ZW“‘ ";3 {m,25’5
. ~9 2 { 2 2/
A | 13 | ' ¥ 1%, [ (REBRES : 4o
O PR (%2 0ix ‘r\’”"“- (%D s 4 Una, | (*/-1\ c{,x. +\Am (D

; s 22 Jo calt jb :

d =00

7 e IR T Yo | 2 ke § 2l

= i 2 ) [a ] €Y
bl/\q 3(%-2\ / 'i'\/lﬂn 3()\—2)/ + (\u’)\ 3 [K")S /; % Hm‘gh"% 2\./
8

O =~ N~ w7 o it A = oe
; I3 =em
= 3D D L,

A= -=

Because 1L Goat a)oes hice e onhive

WWeyal diveregs. Thare s ne heed 4o
Lwash P '\?V“"L“”\ ‘



